
Reakce: I + Ar 

poč. Rychlost  v

[Ar]\[Io] 1.00E-05 2.00E-05 4.00E-05 6.00E-05

1.00E-03 8.70E-04 3.48E-03 1.39E-02 3.13E-02

5.00E-03 4.35E-03 1.74E-02 6.96E-02 1.57E-01

1.00E-02 8.69E-03 3.47E-02 1.38E-01 3.13E-01

ln vo

ln(Ar) / ln ([Io]) -11.5129 -10.8198 -10.1266 -9.72117

-6.907755279 -7.04702 -5.66072 -4.27587 -3.46414

-5.298317367 -5.43758 -4.05129 -2.66499 -1.85151

-4.605170186 -4.74558 -3.36102 -1.9805 -1.16155

Průměry: n1=1 n2=2

Tj. : 2I+ Ar => I2+Ar

y = 0.9996x - 0.142

y = 0.999x + 1.2403

y = 0.9976x + 2.6164

y = 1.0003x + 3.4466
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Určení řádu vzhledem ke koncentraci Argonu

-11.51292546

-10.81977828

-10.1266311

-9.721165996

Lineární (-11.51292546)

Lineární (-10.81977828)

Lineární (-10.1266311)

Lineární (-9.721165996)

y = 1.9994x + 15.972

y = 2.0011x + 17.601

y = 1.9988x + 18.265
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Řád vzhledem ke koncentraci Jódu

-6.907755279

-5.298317367

-4.605170186

Lineární 
(-6.907755279)

Lineární 
(-5.298317367)

Lineární 
(-4.605170186)


